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I 232 mwn: status of a mix of 0Ny, or pmp with a nnn which will all be burnt (D201 NNIN 0713 NNIN)
a pman:in all cases, 7w3
b M3 in case of 973 172 Nnan and D21 NNy, invalid
i reason: a regular nmin (and its ymp) have “normal” texture; these two are “moister” (3 n% per NIVY)
ii  and: they absorb from each other (and now the ymp is invalid due to an excess of oil (n"9108 — MNWY nan)
Il Backdoor: dispute 1339/0mn "3 re: 0T Y0an o7 (1:n ©Nar)
a  0’pom: DT can be Y0ann to other 07 (N1 pn) if the quantity is sufficiently less (...R17)
b  A7m7 7 075020 DT PR
i source (for both): v. 1 —99n 07 is far more than ywn 07, yet when mixed it is still called 1ywn o7
1 a7 proves that "Rt PH0an Py PR
(a) reasoning: if it meant to prove that 02 R 111 pn, it would’ve given such a case
(b) challenge: perhaps only %1 which are of the same type maintain integrity — xowp
2 »7y proves that %va 85 wna pn
(a) reasoning: if it meant to teach that r"xt PYvan PoyY PR, would've picked 1on 1R
(b) challenge: perhaps only n”an which are also 121» maintain integrity — Xwp
ii  challenge (to 7772 71): in our MWy, he allows for n”an Y1v71
1 ~27>" holds that whenever it is n”an with another substance, we ignore the yn (in this case, the oil) and let
the wnr (flour) nullify
iii challenge: dispute 9"1/11nv "1 if a RVIN NN PMIp was oiled:
1 s invalid - per v. 2
2 5. valid - he should even oil it n9'Nn2Y; v. 2 just means that it doesn’t have a regular oil-component
3 challenge (515 jany *9): if a 2N (w/o 1nW) mixes with a n%Y3, it may be brought — » dissents
(a) assumption: these are both m'x¥np that mixed > if the XM NMn ymp gets oiled, it is invalid
(b) rejection: this refers to a 2R 019 NN (more oil than D*W13 NMN per PWY) with Dwad nmn
(i) note: called n1n in relation to a8 nnan which is “oilier”
(ii) challenge: ruling lists 09 into oW1 then nan into N%%a
(iii) answer: R0 is explaining the reason for Rw», not a separate case
¢ N27s question: if he squeezed out the oil onto the o'y and then put the ymp on those ¥y — is it valid?
i lemmal: P53 P 12N — this connection makes it one and the oil is considered part of the ymp
i lemma2: P5193 RS PO MM
1 challenge (?wx 75 82°37): isn't this the dispute 9”1/ re: putting less than n>r> meat with bone attached yna?
(@) 77 P93 POy rmn 2 20 (for yin NRYYN)
(b) 577 M7 PLIYI IRY PYY MM D MDA
2 defense: either position is flexible here:
(a) 7 may only say P23 12 *12°n re: bone, which is connected to meat, but not oil
(b) 571 may only say 12193 &Y re: bone, which if it falls off, isn’t restored, but not oil which must be on narn
(c) or perhaps: they maintain their positions —1p’n
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